Matrices and Determinants - Class XlI

Past Year JEE Questions

Questions

Quetion: 01

Let the number 2,b,c bein an A.P. and
1 1 1

A=|2 b ¢ |.Ifdet(A) € [2, 16], then c lies in the interval :
4 b2 2

A.[2,3)

B. [4, 6]

C.(2+23/4 4

D.[3, 2 + 23/4]

Solutions

Solution: 01

Explanation
2, b, carein AP.

Let common difference = d
b=2+dandc=2+2d
1 1 1
Al =12 b ¢
4 b2 2

C=Cr-Cy
C3=C3-Cq
1 0 0
=12 b-2 -2
4 bE—4 -y
1 0 0
=b-=-2c-2]2 1 1

4 b+2 c+2

=(b-2)(c-2[c+2-b-2]

=b-2)(c—=2)(c—-b)

[Asb=2+dandc=2+2d,thenb-2=4,c-2=2dandc-b=d]

= (d) (2d) (d)



=243
Given |A| €[2, 16]
~2d3 e[2 16]

>d3e, 8]
=de[l,2]
Asc=2+2d

then c € [4, 6]



